FP1 : 2 BY 2 MATRICES (FURTHER MATHS) 


1)   The matrices A and B are defined by 
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Find the matrices:

(a) AB;
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(b) BTAT.
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[AQA]
2)   (i)
Write down the matrix R which represents an anticlockwise rotation through
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      (ii)    Describe the transformation with matrix 
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, where k is a positive constant.
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      (iii)   Show that 
[image: image4.wmf]1

1

2

2

2

kk

kk

-

+

æö

=

ç÷

--

èø

RSR

.







[3]
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3)   a)  Find the inverse of the matrix  
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      b)  Use the inverse matrix to solve the simultaneous equations





3x – 5y = 11





4x +   y = 7
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4) The matrix M is 
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a)  Find the determinant of M, giving your answer in terms of k.
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b)  A quadrilateral is transformed by T into a quadrilateral with the same area as the original.  Find the two values of k for which this occurs.
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c)  When k = 4:

(i) Find the inverse matrix M-1;
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(ii) Find the coordinates of the point which is mapped onto (1, 7) under T.
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5)  The matrices A and B are such that 
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a)  Find the matrix product AB.
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b)  The transformation T is given by:
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Describe fully the geometrical transformation represented by T for each of the following 
cases

(i) M = A

(ii)
M = B

(iii)
M = AB
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